

**HIMACHAL PRADESH
PUBLIC WORKS DEPARTMENT
"NOTICE INVITING TENDER"**

Sealed Percentage rates tender in emergent condition on form 6 & 7 are invited on behalf of Governor of Himachal Pradesh for the following work covered under emergent/inescapable nature from the approved and eligible contractors enlisted in H.P.PWD so as to reach in this office on or **26.08.2025** Up to 11.30 A.M. and will be opened on the same day at 3.30 P.M. in the presence of interesting contractors or their authorized representatives who may like to be present. If it happens to be holiday on the schedule date of opening of tender, the same will be opened on next working day. The application for obtaining the tender form will be received upto **01.00 PM** & without EMD tender form will not be accepted, moreover the tender form can be had from this office against cash payment (Nonrefundable) up to 5.00 P.M. on **25.08.2025**.

The earnest money in the shape of National Saving Certificate/ Time deposit accounts/Saving account in any of the Post Office and Banks of Himachal Pradesh duly pledged in favour of the Xen Mandi Division No. II must accompany with each tender. Conditional tender and the tender received without earnest money will summarily be rejected. The earnest money should be attached with application. The offer of the tender shall be kept open for 75 days. The Executive Engineer reserves the right to reject the tender without assigning any reason.

Sr. No	Name of work	Estt. cost	E/Money	Cost of tender form	Time limit
1.	RRD on various roads on Pandoh Section under Mandi Sub Division No-IV HPPWD Mandi (SH:- Hiring of J.C.B for removal of slips, clearing of debris, dressing of berms etc).	Rs 99,000.00	Rs 2000/-	Rs. 350	One Month
2.	C/o Kalother to Luhard road km 0/00 to 3/00 (SH:- Balance work of ROFD B/w km 0/960 to 1/030) Deposit work	Rs 97,653.00	Rs 2000/-	Rs. 350	One Month
3.	A/R & M/O Assistant Engineer office building at Kotli Tehsil Kotli Distt. Mandi H.P. (SH:- Providing and fixing wall paneling of 12mm (twelve millimeter) thick water proof termite resistant ply wood in office).	Rs 99,335.00	Rs 2000/-	Rs. 350	One Month
4.	C/O Upparli Surari Sain road Km 0/00 to 3/500 (Under OTMNP 1900-307-10671/296) (SH. ROFD between Km 3/022 to 2/969) (Rds reckoned from Sain side)	Rs 99,114.00	Rs 2000/-	Rs. 350	One Month
5.	Annual repair and maintenance of D.A Office Distt. Mandi (H.P) (SH:- Providing and fixing 18mm thick prelaminated board and glass panes work etcetera.	Rs 44,856.00	Rs 900-	Rs. 350	One Month
6.	Annual repair and maintenance of Residential building HPPWD department at jail road Mandi Distt. Mandi (H.P) (SH:- Dismantling work and construction of C.C. shelf, and wood work etcetera in Chief Engineer residence.	Rs 88,355.00	Rs 1800-	Rs. 350	One Month
7.	Annual repair and maintenance of residential building under Mandi Division No.II at Jail road Mandi Distt. Mandi (H.P). (SH:- Dismantling of tile work & providing and fixing water supply and sanitary installation work etc. in Type-IV Qtr. No.6).	Rs 91,503.00	Rs 1900/-	Rs. 350	One Month

It is certified that the above works are required to be carried out immediately being emergent nature of work in public interest.

The tender documents shall be issued only to those contractor/Firm who fulfill the following documents with the application.

1. The valid enlistment/Registration of contractor in Appropriate Class.
2. Permanent account No. (PAN NO). G.S.T No.
3. Earnest Money in the shape of National saving certificate/time deposit account in any of the post office in HP. F.D.R from any Nationalized Bank duly pleaded in favour of the Executive Engineer Mandi Division No-II HPPWD Mandi.
4. The security rates between +5% and -10% are excepted, besides this the Additional Performance security @ 20% & 30% for unbalanced bid in case rates is lower than of 10% -30% but will upto also 20% & lower than 20% upto 30% respectively. The tender beyond the limit.
5. The earnest & cost of tender form for the above works should be submitted with the application for the purchase of the tender form. The application received without earnest money & cost of tender form shall summarily be rejected.
6. The offer of the tender shall remain valid up to 75 days after the opening of tender.
7. Ambiguous/telephonic/conditional tenders or tender by fax/E mail shall not be considered and will be summarily be rejected.
8. Executive Engineer reserves the right to reject or cancel any or all tenders without assigning any reasons.
9. If the date given above happens to be holiday the same shall be processed on next working day.
10. The Contractor/firms must quote their rates in words as well as in figures failing which EXN reserve the right to accept/reject any or all tenders
11. The tender forms shall not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed the previous awarded works within the stipulated period of completion.

12. Work should be completed by the contractor within stipulated period.
13. The tender form will not be issued to those contractors whose past performance is not good and those who have many works in hand.

No.PW-MDI-CB NIT (off line) /2024.
Copy forwarded to the following for information and necessary action :-
1. The Engineer-in-chief, HPPWD, Shimla.
2. The Deputy Commissioner Mandi Distt. Mandi HP
3. The Sub Divisional officer (Civil) Sadar Mandi Distt. Mandi HP
4. The Chief Engineer, (M2)HPPWD: Mandi.
5. The Superintending Engineer, 1st Circle, HPPWD: Mandi.
6. The Distt. Panchayat officer Mandi Distt. Mandi HP
7. The Commissioner Nagar Nigam Mandi Distt. Mandi HP
8. All A, E, S under this division.
9. The President of Contractor's Association.
10. Notice Board/Accounts Branch/Drawing Branch/Supdt. With spare copies.

Executive Engineer
Mandi Division No. II
HP.PWD Mandi

7720 - 34

19/8
2024

Executive Engineer
Mandi Division No. II
HP.PWD Mandi

19/8
2024

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- RRD on various roads on Pandoh Section under Mandi Sub Division no-IV HP PWD Mandi
(SH:- Hiring of J.C.B for removal of slips, clearing of debris, drains, dressing of berms etc.)

Estimated Cost Rs. 99,000/-
Earnest Money Rs. 2000/-
Time :- One month.

Sr. No.	Description of items.	Qty.	Rates in:		Unit.	Amount.
			Figure.	Words.		
1	Hiring of JCB for removal of slips and dressing of berms etc in all kind of soil and trimming of side slopes and disposing of excavated earth up to any lead from various sites of work with in all leads and lifts to the entire satisfaction of the Engineer-in-charge. Any loss to the public/private property or any accident etc. happened during the course of hiring period shall be absolute responsibility of the JCB owner which shall have to be fully compensated by him in all cases. The fuel and JCB operator and stays for JCB operator will be provided by the JCB owner. The repair and spare including watch and ward of JCB also borne by the contractor/ owner. The daily log book will be maintained at site which should be duly verified by the Engineer-in-charge.	90.00	1100.00	Rupees One Thousand One Hundred Only	Per Hour	99000.00
					Total	99,000.00


Executive Engineer,
Mandi Division No-II,
HP.PWD. Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- C/O Kalother to Luhard road Km 0/00 to 3/00 (SH :- Balance work of ROFD between Km 0/960 to 1/030) Deposit work

Estimated Cost Rs 97,653/- only
Earnest Money Rs 2,000/-
Time:- One month.

S. No	Description of items.	Quantity	Rates		Unit	Amount
			Figure	Words		
1	2	3	4	5	6	7
1	Cutting in earth work in all kinds of soil such as pick work, jumper work, pick jumper work, pick jumper blasting work, jumper blasting work, blasting work (soft and hard rock) conglomerate rock including/ chiseling wedging out of rocks (where blasting is prohibited), saturated soil and their intermediate classification of soil including ramming and de-watering where required as per the geometrics, grades and levels shown on the drawings, including clearing of jungles uprooting of trees, vegetation, grass wood trees and sapling of all girth upto any heights/depths and removal of rubbish up to any distance outside the periphery of the area including stacking the useful material along the road side and disposal of all unserviceable materials through all modes of transportation with in all leads and lifts. The recovery of 40.90 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 12,271.00/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to public or private property during the course of execution shall be the responsibility of the contractor, which shall have to be duly compensated by him at his own cost in all cases to the extent of the damages occurred as directed or as per the direction of Engineer-in-charge including carriage of materials with in all leads, lifts and other incidentals.	383.48	254.65	Rupees Two Hundred Fifty Four and Paise Sixty Five Only	Per Cubic Metre	97,653.00
					Total	97,653.00



Executive Engineer,
Mandi Division No-II,
HP. PWD, Mandi.

Percentage Rate SCHEDULE OF QUANTITY

Name of work :- A/R & M/O Assistant Engineer office building at Kotli Tehsil Kotli Distt. Mandi (HP) (SH :- Providing and fixing wall panelling of 12mm (twelve milimetre) thick water proof termite resistant ply wood in office)

Estimated Cost Rs :-99,335/- only
Earnest Money Rs 2,000/-
Time:- One month.

S. No	Description of items.	Quantity	Rates		Unit	Amount
			Figure	Words		
1	2	3	4	5	6	7
1	Providing and fixing wall panelling of 12mm (twelve milimetre) thick water proof termite resistant ply wood (One side) of approved brand on soft wood 4X4cm frames @ 60cm (Sixty centimetre) centre to centre on both side fixing with rawl plugs on wooden pegs and screwed and showing 8mm wide and 12mm (twelve milimetre) deep grooves of required pattern in elevation and finished teak wood beading out of 25x12mm (twanty five into twelve milimetre) /cornish out of 75x60mm (seventy five into sixty milimetre) of different pattern in top middle and corner joints including polishing and painting groove complete.	28.11	3533.80	Rupees Three Thousand Five Hundred Thirty Three and Paise Eighty Only	Per Cubic Metre	99,335.00
					Total	99,335.00



Executive Engineer,
Mandi Division No-II,
HP. PWD, Mandi.

Name of work :- C/O Upparli Surari Sain road Km 0/00 to 3/500 (Under OTMNP 1900-307-10671/296)
(SH :- ROFD between Km 3/022 to 2/969) (Rds reckoned from Sain side)

Percentage Rate SCHEDULE OF QUANTITY

Estimated Cost Rs 99,114/- only
Earnest Money Rs 2,000/-
Time:- One month.

S. No	Description of items.	Quantity	Rates		Unit	Amount
			Figure	Words		
1	2	3	4	5	6	7
1	Cutting in earth work in all kinds of soil such as pick work, jumper work, pick jumper work, pick jumper blasting work, jumper blasting work (soft and hard rock), conglomerate rock including/ chiseling wedging out of rocks (where blasting is prohibited), saturated soil and their intermediate classification of soil including ramming and de-watering where required as per the geometrics, grades and levels shown on the drawings, including clearing of jungles uprooting of trees, vegetation, grass wood trees and sapling of all girth upto any heights/depths and removal of rubbish up to any distance outside the periphery of the area including stacking the useful material along the road side and disposal of all unserviceable materials through all modes of transportation with in all leads and lifts. The recovery of 53.38 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 16,013/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to public or private contractor, which shall have to be duly compensated by him at his own cost in all cases to the extent of the damages occurred as directed or as per the direction of Engineer-in-charge including carriage of materials with in all leads, lifts and other incidentals.	246.35	402.33	Rupees Four Hundred Two and Paise Thirty Three Only	Per Cubic Metre	99,114.00
					Total	99,114.00


Executive Engineer,
Mandi Division No-II,
HP, PWD, Mandi.

Percentage Rate Schedule of Quantity

Estimated Cost:- Rs. 44856.00
 Earnest Money:- Rs. 900.00
 Time:- One Month

Name of work:- Annual repair and maintenance of D.A. Office, Distt. Mandi (H.P.)
 Sub Head:- Providing and fixing 18mm thick prelaminated board and glass panes work etcetera

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	2	3	4	5	6	7
1	Providing and fixing 18mm (eighteen millimetre) thick action tessa or its equivalent both side prelaminated board in shutter/shelves/cup board with butt joints including fixing with nails and screws etcetera complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	15.00	2593 35	Rupees Two Thousand Five Hundred Ninety Three and Paise Thirty Five Only	Per square metre	38900.00
2	Providing and fixing PVC edge tape in cupboard/ ward robe shutters, including fixing with necessary adhesive, screws etcetera complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	19.40	64 00	Rupees Sixty Four Only	Per running metre	1242.00
3	Providing and fixing steel pave of superior quality including fixing with necessary screws etcetera complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	8.00	241 85	Rupees Two Hundred Forty One and Paise Eighty Five Only	Each	1935.00
4	Providing and fixing 4mm (four millimetre) thick glass panes with putty and glazing clips in steel doors, windows, clerestorey windows etcetera complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge	2.99	929 50	Rupees Nine Hundred Twenty Nine and Paise Fifty Only	Per square metre	2779.00
					Total:-	44856.00



Executive Engineer
 Mandi Division No II
 HP.PWD Mandi

Percentage Rate Schedule of Quantity

Estimated Cost:- Rs. 88355.00

Earnest Money:- Rs. 1800.00

Time:- One Month

Name of work:- Annual repair and maintenance of Residential building HP.PWD. department at jail road Mandi Distt. Mandi (H.P.).

Sub Head:- Dismantling work and construction of C.C. shelf, and wood work etcetera in Chief Engineer residence

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
2	3	4	5	6	7	
1	Dismantling tile work in floors and roofs laid in cement mortar including stacking material complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	33.45	47.20	Rupees Forty Seven and Paise Twenty Only	Per square metre	1579.00
2	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15° (fifteen degree) landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staicases and spiral stair cases above plinth level upto all floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (one cement : one and half coarse sand : three graded stone aggregate 20mm (twenty millimetre) nominal size complete in all respect including curing and carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	0.18	9329.55	Rupees Nine Thousand Three Hundred Twenty Nine and Paise Fifty Five Only	Per cubic metre	1679.00
3	Steel reinforcement thermo-Mechanically Treated bars of grade Fe-500D or more for R.C.C work including straightening, cutting, bending, placing in position and binding all complete above plinth level complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	31.15	84.65	Rupees Eighty Four and Paise Sixty Five Only	Per kilogram	2637.00
4	Providing and fixing 18 mm (eighteen millimetre) thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm (twenty millimetre) thick base cement mortar 1:4 (one cement : four coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing to edges to give high gloss finish etcetera at all levels complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	4.39	5372.00	Rupees Five Thousand Three Hundred Seventy Two Only	Per square metre	23583.00
5	Providing second class deodar wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or dash fastener shall be paid for separately) complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge all respect as per direction and satisfaction of Engineer-in-Charge.	0.06	128255.10	Rupees One Lakh Twenty Thousand Two Hundred Fifty Five and Paise Ten Only	Per cubic metre	7695.00

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	2	3	4	5	6	7
6	Providing and fixing 35mm (thirty five milimetre) thick second class deodar wood panelled glazed or panelled and glazed shutters for doors windows and clerestory windows including black enamelled iron butt hinges with necessary screws complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	2.05	4921.10	Rupees Four Thousand Nine Hundred Twenty One and Paise Ten Only	Per square metre	10088.00
7	Providing and fixing 35mm (thirty five milimetre) thick second class deodar wood wire gauge shutters using galvanised M.S. wire gauge of I.S. gauge designation 85(eighty five) G. with wire of dia 0.56 mm (zero point six milimetre) for doors windows and clerestorey windows including bright finished black enamelled iron hinges with necessary screws complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	0.43	4102.20	Rupees Four Thousand One Hundred Two and Paise Twenty Only	Per square metre	1764.00
8	Providing and fixing 125mm (one hundred twenty five millimetre) aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10(ten) as per IS : 1868) transparent or dyed to required colour or shade, necessary screws etcetera complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	6.00	70.55	Rupees Seventy and Paise Fifty Five Only	Each	423.00
9	Providing and fixing 100x10mm (one hundred into ten millimetre) aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10(ten) as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etcetera complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	6.00	71.25	Rupees Seventy One and Paise Twenty Five Only	Each	428.00
10	Providing and fixing 250x16mm (two hundred fifty into sixteen millimetre) aluminium sliding door bolts, ISI marked, anodised (anodic coating not less than grade AC 10(ten) as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etcetera complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	1.00	239.60	Rupees Two Hundred Thirty Nine and Paise Sixty Only	Each	240.00
11	Providing and fixing 760x600x250mm (seven hundred sixty into six hundred into two hundred fifty millimetre) stainless steel kitchen Dish racks as per HPPWD Specification including carriage of all labour, equipment and material to various location through all modes of transportation complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	1.00	2928.35	Rupees Two Thousand Nine Hundred Twenty Eight and Paise Thirty Five Only	Each	2928.00
12	Providing and fixing electric kitchen chimney pyramid shape as per HPPWD Specification including carriage of all labour, equipment and material to various location through all modes of transportation complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge	1.00	22841.30	Rupees Twenty Two Thousand Eight Hundred Forty One and Paise Thirty Only	Each	22841.00

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	2	3	4	5	6	7
13	Repairs to plaster of thickness 12mm(twelve millimetre) to 20 mm (twenty millimetre) in patches of area 2 5 sqm.(two point five square meters) and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls in cement mortar 1:4 (one cement : four sand) complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	23.88	379.60	Rupees Three Hundred Seventy Nine and Paise Sixty Only	Per square metre	9065.00
14	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etcetera complete in all respect including stacking and carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	2.00	236.10	Rupees Two Hundred Thirty Six and Paise Ten Only	Each	472.00
15	Centering and shuttering in shelves (cast in situ) including strutting, propping etcetera and removal of form for complete in all respect including stacking and carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	3.57	652.05	Rupees Six Hundred Fifty Two and Paise Five Only	Per square metre	2328.00
16	Dismantling stone slab flooring laid in cement mortar including stacking of serviceable material and disposal of unserviceable material upto any lead complete in all respect including stacking and carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	3.57	169.60	Rupees One Hundred Sixty Nine and Paise Sixty Only	Per square metre	605.00
				Total:-		88355.00


 Executive Engineer,
 Mandi Division No II,
 HP PWD, Mandi

(31)

Draft Schedule of Quantity

**Estimated Cost:- Rs. 91503.00
Earnest Money:- Rs. 1900.00
Time:- One Month**

Name of work:- Annual repair and maintenance of residential building under Mandi Division No. II at Jail road Mandi Distt. Mandi (H.P.).

Sub Head:- Dismantling of tile work & providing and fixing water supply and sanitary installation work etc. in Type-IV Qtr. No. 6).

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1	Providing and fixing diverter concealed with single lever exposed parts kit of high flow diverter consisting of operating lever wall flange of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.00	13261.80	Rupees Thirteen Thousand Two Hundred Sixty One and Paise Eighty Only	Each	26524.00
2	Providing and fixing long body bib tap of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.00	1509.40	Rupees One Hundred Five and Paise Forty Only	Each	3019.00
3	Providing and fixing bath tub spout with wall flange of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.00	3216.60	Rupees Three Thousand Two Hundred Sixteen and Paise Sixty Only	Each	6433.00
4	Providing and fixing overhead shower with arm of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	2.00	4496.95	Rupees Four Thousand Four Hundred Six and Paise Ninety Five Only	Each	8994.00
5	Providing and fixing angle cock of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	6.00	2363.00	Rupees Two Thousand Three Hundred Sixty Three Only	Each	14178.00
6	Providing and fixing two way angle cock of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	1.00	2690.20	Rupees Two Thousand Six Hundred Ninety and Paise Twenty Only	Each	2690.00
7	Providing and fixing vitreous china European water closet with UF soft closet seat cover hinges including fixing with accessories complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge.	1.00	7475.55	Rupees Seven Thousand Four Hundred Seventy Five and Paise Fifty Five Only	Each	7476.00

Sr. No.	Description of item	Qty.	Rate		Unit	Amount
			In Figure	In Words		
3	4	5	6	7		
1		1 00	2802.60	Rupees Two Thousand Eight Hundred Two and Paise Sixty Only	Each	2803.00
8	Providing and fixing 10 (ten) litre capacity white P V C. low level flushing cistern with manually controlled device (handle lever) conforming to IS 7231, with all fittings and fixtures complete in all respect including carriage of materials within all leads and lifts as per direction and satisfaction of Engineer-in-Charge. direction and satisfaction of Engineer-in-Charge.	9.00	428.20	Rupees Four Hundred Twenty Eight and Paise Twenty Only	Each	3854.00
9	Providing and fixing 15 mm (fifteen millimetre) nominal bore with 30cm (thirty centimetre) length unplasticised P.V.C. connection pipe with PTMT Nuts, collar and bush of approved quality and colour complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	1 00	968.80	Rupees Nine Hundred Sixty Eight and Paise Eighty Only	Each	969.00
10	Providing and fixing jet spray of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	3.00	264.60	Rupees Two Hundred Sixty Four and Paise Sixty Only	Each	794.00
11	Providing and fixing soap dish of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge	21.50	318.80	Rupees Three Hundred Eighteen and Paise Eighty Only	Per running metre	6854.00
12	Providing and fixing 15 mm (fifteen millimetre) nominal outer dia Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot and cold water supply, including all CPVC plain and brass threaded fittings, including fixing the pipe with clamps at 1.00 m (one point zero metre) spacing. This includes jointing of pipes and fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	1.00	1367.15	Rupees One Thousand Three Hundred Sixty Seven and Paise Fifteen Only	Each	1367.00
13	Providing and fixing towel rod of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge	1.00	2274.60	Rupees Two Thousand Two Hundred Seventy Four and Paise Sixty Only	Each	2275.00
14	Providing and fixing 600x450 mm (six hundred into four hundred fifty millimetre) beveled edge mirror of superior glass (of approved quality) complete with 6 mm (six millimetre) thick hard board ground fixed to wooden cleats with C P brass screws and washers complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge	29.52	47.20	Rupees Forty Seven and Paise Twenty Only	Per square metre	1393.00
15	Dismantling tile work in floors and roofs laid in cement mortar including stacking material complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge					

Sr. No.	Description of item 2	Qty.	Rate		Unit	Amount
			In Figure	In Words		
1		3	4	5	6	7
16	Providing and fixing 20mm dia (twenty millimetre diametre) curtain rods of 1.25 mm (one point two five millimetre) thick chromium plated brass plate, with two chromium plated brass brackets fixed with C.P. brass screws and wooden plugs, etcetera, wherever necessary complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge	3.40	396.75	Rupees Three Hundred Ninety Six and Paise Seventy Five Only	Per running metre	1349.00
17	Providing and fixing clamp for curtain rod of superior quality complete within all leads, lifts carriage of material and other incidental complete in all respect as per direction and satisfaction of Engineer-in-Charge.	4.00	132.75	Rupees One Hundred Thirty Two and Paise Seventy Five Only	Each	531.00
				Total:-		91503.00



Executive Engineer,
Mandi Division No. II
HP.PWD Mandi 